TOP PANEL EXPLODED VIEW

ITEM| PART No. DESCRIPTION Qty.

| CO363AX COMMS HELIUM UNSCRAMBLER, HLB |

2 EM3225 ENCLOSURE, 4U, 19", 500MM DEEP |

3 EM5004 PLATE, BLANK, 19" RACK, 4U, 84HP, ANODISED 2
4 EM160 ELEC, DIN RAIL (TOP HAT SECTION), 500MM |
5) EM3689 TERMINAL, DIN RAIL 18
6 EM3123 TERMINAL, EARTH, DIN 10
/ EM10306 FUSE HOLDER LEVER ACTION, DIN RAIL 2
8 EM3691 END COVER, TERMINAL 2
9 EM906 END STOP 4
10 FB243 SCREW, M/C, PAN HD, M3 x 0.5 x 10, STAINLESS STEEL 6
11 FNO89 NUT, NYLOC, M3, 316 STAINLESS STEEL 6
12 FB527 SCREW, M5 x 10MM LG, PAN HD, SLOTTED, SSA2 3
13 FW193 WASHER, PLAIN, M5, STAINLESS STEEL 3
14 FNO33 NUT, NYLOC, M5, 304 STAINLESS STEEL 3
15 EM3226 KIT, FIXING, 19" RACK, M6 AS REQ.

S ~ ~ ~ ~ ~ . ~ ~ ~ ~ ~ ~ ~ ~ -~ )/
v

~ ~ ~ ~ .~ ~ -~ N
« ~ . ~ ~ ~ ~ ~

<
£

W < < < ~ ~ ~ ~ ~ ~ ~
LN

NS & & & & © & & & o

\\\ ~ A - < < < ~ ~ ~ ~ ~ < ~ ~ ~ ~ ~ ~ ~
N\ -

" DIVEX OWNS THE COPYRIGHT OF THIS DOCUMENT AND ANY DESIGN RIGHT HEREIN. IT IS SUPPLIED IN CONFIDENCE AND MUST NOT BE USED FOR ANY PURPOSE OTHER THAN THAT FOR WHICH IT IS SUPPLIED AND MUST NOT BE REPRODUCED WITHOUT PERMISSION IN WRITING FROM THE OWNERS. )

NOTES

MATERIAL

TITLE

ALL DIMENSIONS SHOWN ARE IN MM (UOS) = COMMS HELIUM
RO5
ALL DIMENSIONS BEFORE PLATING (UOS) N/A — UNSCRAMBLER, HLB,
REMOVE ALL SHARP EDGES AND BURRS — ENCLOSED
FINISH RO2 DRAWING No. REV
DIMENSIONAL TOLERANCES CO36329S1 R00O
MACHINING FABRICATION N/A Rot
PART No. PRODUCT / PROJECT No.
O DEC CES 2. S > < 0.
gNEDSElcmkflﬁﬁAgE i:).g s||§g >$00 <;88 i?g ROO ISSUED FOR MANUFACTURE sJ 191112000 1B CO363AX.E COMMS
TWO DECIMAL PLACE 1005 | SIZE 500 £3.0 ﬁﬁ THIRD ANGLE REV DESCRIPTION ECN No| BY DATE AUTH.BY
ANGULAR TOLERANCE | $05° | ANGULARTOLERANCE | :05° | ) PROJECTION DO NOT SCALE DRAWING AT 7 NTS N y

DIVEX LIMITED
ENTERPRISE DRIVE
WESTHILL
ABERDEEN
AB32 6TQ
UNITED KINGDOM

Tel : +44(0)1224 740145
Fax : +44(0)1224 740172
email : info@divexglobal.com

www.divexglobal.com
\ /




